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Multiple Choice Questions

An  electronic  transition  in  hydrogen  atom  results  in  the  formation  of  Hα  line  of  hydrogen  in1.

Lyman  series,  the  energies  associated  with  the  electron  in  each  of  the  orbits  involved  in  the

transition (in kcal mol-1) are 

-313,6, - 34.84A.

-313.6, - 78.4B.

-78.4,- 34.84C.

-78.4,-19.6D.

Answer

The velocities of two particles A and B are 0.05 and 0.02 ms-1 respectively. The mass of B is five2.

times the mass of A. The ratio of their de-Broglie's wavelength is

2 : 1A.

1 : 4B.

1 : 1C.

4 : 1D.

Answer

The atomic numbers of elements A, B, C and D are Z - 1; Z; Z + 1 and Z + 2, respectively. If 'B'3.

is a noble gas, choose the correct answers from the following statements-

1) 'A' has higher electron affinity.

(2) 'C' exists in +2 oxidation state. 

(3) 'D' is an alkaline earth metal.

(1) and (2)A.

(2) and (3)B.

(1) and (3)C.

(1), (2) and (3)D.
Answer

The bond length of HCl molecule is 1.275 Å and its dipole moment is 1.03 D. The ionic character4.

of the molecule (in percent) (charge of the electron = 4.8 × 10-10 esu) is

100A.

67.3B.

33.66C.

16.83D.
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Answer

Which one of the following is a correct set ?5.

H2O, sp3, angularA.

BCl3, sp3, angularB.

NH4+, dsp2, square planarC.

CH4, dsp2, tetrahedralD.

Answer

Match the following:6.

List - I List - II

A. 10 gm CaCO3 →decomposition∆ (i) 0.224 L CO2

B. 1.06 g Na2CO3 →Excess HCl (ii) 4.48 L CO2

C. 2.4 g C →CombustionExcess O2 (iii) 0.448 L CO2

D. 0.56 g CO →combustionExcess O2 (iv) 2.24 L CO2

(v) 22. 4 L CO2

The correct match is

A - iv; B - i; C - ii; D - iiiA.

A - v; B - i; C - ii; D - iiiB.

A - iv; B - i; C - iii; D - iiC.

A - i; B - iv; C - ii; D - iiiD.
Answer

When 25 g of a non-volatile solute is dissolved in 100 g of water, the vapour pressure is lowered7.

by  2.25  × 10-1  mm.  If  the  vapour  pressure  of  water  at  20°C  is  17.5  mm,  what  is  the  molecular

weight of the solute ?

206A.

302B.

350C.

276D.

Answer

50 mL of H2O is added to 50 mL of 1 × 10-3  M barium hydroxide solution. What is the pH of the8.

resulting solution ?

3.0A.

3.3B.

11.0C.

11.7D.
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Answer

For a crystal, the angle of diffraction (2 θ) is 90° and the second order line has a d value of 2.289.

Å. The wavelength (in Å) of X-rays used for Bragg's diffraction is

1.612A.

2.00B.

2.28C.

4.00D.

Answer

In a 500 mL flask, the degree of dissociation of PCl5 at equilibrium is 40% and the initial amount10.

is 5 moles. The value of equilibrium constant in mol L-1 for the decomposition of PCl5 is

2.33A.

2.66B.

5.32C.

4.66D.

Answer

Calculate ∆H in kJ for the following reaction:11.

C (g) + O2 (g) → CO2 (g)

Given that, 

H2O (g) + C (g) → CO (g) + H2 (g) ; ∆H = +131 kJ

CO (g) + 12O2 (g) → CO2 (g); ∆H = -282 kJ

H2 (g) + 12O2 (g) → H2O (g); ∆H = -242 kJ

-393A.

+393B.

+655C.

-655D.
Answer

Boron halides behave as Lewis acids because of their  .......... nature.12.

proton donorA.

covalentB.

electron deficientC.

ionisingD.

Answer

The correct order of reducing abilities of hydrides of V group elements is13.

NH3 < PH3 < AsH3 < SbH3 < BiH3A.

NH3 > PH3 > AsH3 > SbH3 > BiH3B.

NH3 < PH3 > AsH3 > SbH3 > BiH3C.

SbH3 > BiH3 > AsH3 > NH3 > PH3D.

Answer
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The number of sigma and pi bonds in peroxodisulphuric acid are, respectively14.

9 and 4A.

11 and 4B.

4 and 8C.

4 and 9D.

Answer

The compound in which the number of dπ-pπ bonds are equal to those present in ClO4-15.

XeF4A.

XeO3B.

XeO4C.

XeF6D.

Answer

Which one of the following reactions represents the oxidising property of H2O2?16.

2KMnO4 + 3H2SO4 + 5H2O2 → K2SO4 + 2MnSO4 + 8H2O + 5O2A.

2K3[Fe(CN)6] + 2KOH + H2O2 → 2K4[Fe(CN)6] + 2H2O + O2B.

PbO2 + H2O2 → PbO + H2O + O2C.

2KI + H2SO4 + H2O2 → K2SO4 + I2 + 2H2OD.

Answer

Which of the following statements are correct for alkali metal compounds ?17.

(i) Superoxides are paramagnetic in nature.

(ii) The basic strengths of hydroxides increases down the group.

(iii) The conductivity of chlorides in their aqueous solutions decreases down the group.

(iv) The basic nature of carbonates in aqueous solutions is due to cationic hydrolysis.

(i), (ii) and (iii) onlyA.

(i) and (ii) onlyB.

(ii), (iii) and (iv) onlyC.

(iii) and (iv) onlyD.
Answer

Identify B in the following reaction18.

H4SiO4 →-H2O1000°C A →∆Carbon B + CO

corundumA.

quartzB.

silicaC.

carborundumD.
Answer

[Co(NH3)5SO4]Br and [Co(NH3)5Br]SO4 are a pair of ....... isomers.19.

ionisationA.
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ligandB.

coordinationC.

hydrateD.

Answer

Among the following compounds, which one is not responsible for depletion of ozone layer?20.

CH4A.

CFCl3B.

NOC.

Cl2D.

Answer

Which of the following compound(s) has 'Z' configuration ?21.

(i) onlyA.

(ii) onlyB.

(iii) onlyC.

(i) and (iii) onlyD.
Answer

According  to  Cahn-Ingold-Prelog  sequence  rules,  the  correct  order  of  priority  for  the  given22.

groups is

-COOH > -CH2OH > -OH > -CHOA.

-COOH > -CHO > -CH2OH > -OHB.

-OH > -CH2OH > -CHO > -COOHC.

-OH > -COOH > -CHO > -CH2OHD.

Answer

What are X and Y respectively in the following reaction?23.

Z-product ←Y 2-butyne →X E-product

Na/ NH3 (liq) and Pd/ BaSO4 + H2A.

Ni/ 140°C and Pd/ BaSO4 + H2B.

Ni/ 140°C and Na/ NH3 (liq)C.

Pd/ BaSO4 + H2 and Na/ NH3 (liq)D.

Answer

In which of the following reactions, chlorine acts as an oxidising agent?24.
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(i) CH3CH2OH + Cl2 → CH3CHO + HCl

(ii) CH3CHO + Cl2 → CCl3 . CHO + HCl

(iii) CH4 + Cl2 →hv CH3Cl + HCl

The correct answer is-

(i) onlyA.

(ii) onlyB.

(i) and (iii)C.

(i), (ii) and (iii)D.
Answer

The correct order of reactivity of hydrogen halides with ethyl alcohol is25.

HF > HCl > HBr > HIA.

HCl > HBr > HF > HIB.

HBr > HCl > HI > HFC.

HI > HBr > HCl > HFD.

Answer

The IUPAC name of the following compound is-26.

ethoxy propaneA.

1,1-dimethyl etherB.

2-ethoxy isopropaneC.

2-ethoxy propaneD.
Answer

The  structure  of  the  compound  formed,  when  nitrobenzene  is  reduced  by  lithium  aluminium27.

hydride (LiAlH4) is

A.

B.

C.

D.

Answer

If the mass defect of 5B11 is 0.081 u, its average binding energy (in MeV) is28.

8.60A.
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6.85B.

5.60C.

5.86D.

Answer

What  is  the  temperature  at  which  the  kinetic  energy  of  0.3  moles  of  helium  is  equal  to  the29.

kinetic energy of 0.4 moles of argon at 400 K?

400 KA.

873 KB.

533 KC.

300 KD.

Answer

Assertion (A) : The aqueous solution of CH3COONa is alkaline in nature.30.

Reason (R) : Acetate ion undergoes anionic hydrolysis.

The correct answer is

both (A) and (R) are true and (R) is the correct explanation of (A).A.

both (A) and (R) are true but (R) is not the correct explanation of (A).B.

(A) is true but (R) is not true.C.

A) is not true but (R) is true.D.
Answer

When  same  quantity  of  electricity  is  passed  through  aqueous  AgNO3  and  H2SO4  solutions31.

connected  in  series,  5.04  ×  10-2  g  of  H2  is  liberated.  What  is  the  mass  of  silver  (in  grams)

deposited ? (Eq. wts. of hydrogen = 1.008, silver = 108)

54A.

0.54B.

5.4C.

10.8D.

Answer

When electric current is passed through acidified waterfor 1930 s, 1120 mL of H2 gas is collected32.

(at STP) at the cathode. What is the current passed in amperes ?

0.05A.

0.50B.

5.0C.

50D.

Answer

Which one of the following graphs represents Freundlich adsorption isotherm ?33.
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A.

B.

C.

D.

Answer

Which one of the following reactions does not occur?34.

F2 + 2Cl- → 2F- + Cl2A.

Cl2 + 2F- → 2Cl- + F2B.

Br2 + 2I- → 2Br- + I2C.

Cl2 + 2Br- → 2Cl- + Br2D.

Answer

For a reversible reaction, A ⇌ B, which one of the following statements is wrong from the given35.

energy profile diagram?

Activation energy of forward reaction is greater than backward reactionA.

The forward reaction is endothermic.B.

The threshold energy is less than that of activation energy.C.

The  energy  of  activation  of  forward  reaction  is  equal  to  the  sum of  heat  of  reactionD.

and the energy of activation of backward reaction.
Answer

https://www.zigya.com/previous-year-papers/jee/12/Chemistry/2008/JEE2008010/CHENJE12196681/30
https://www.zigya.com/previous-year-papers/jee/12/Chemistry/2008/JEE2008010/CHENJE12196696/30
https://www.zigya.com/previous-year-papers/jee/12/Chemistry/2008/JEE2008010/CHENJE12196671/30
https://www.zigya.com


Chemistry
JEE 2008

Exam Year
2008

Study, Assignments, Solved Previous Year Papers . Questions and Answers. Free Forever.

Like. Share. Bookmark. Download. Make Notes. Print - Your Favourite Questions. Join www.zigya.com

Page 10 of 11

Acetone  on  addition  to  methyl  magnesium  bromide  forms  a  complex,  which  on  decomposition36.

with acid gives X and Mg(OH)Br. Which one of the following is X?

CH3OHA.

(CH3)3OHB.

(CH3)2CHOHC.

CH3CH2OHD.

Answer

Identify A and B in the following reaction37.

CH3-CH3 ←B CH3COOH  →A CH3CH2OH

A - HI + red P; B - LiAlH4A.

A - Ni/ ∆ ; B - LiAlH4B.

A - LiAlH4 ; B - HI + red PC.

A - Pd- BaSO4 ; B - Zn - HClD.

Answer

Match the following:38.

List - I List - II

A. Oxyhaemoglobin i. Analgesic

B. Aspirin ii. Oxygen carrier

C. Haemoglobin iii. Photosynthesis

D. Chlorophyll iv. Oil of winter green
v. Fe2+ paramagentic

The correct match is

A - v; B - i; C - ii; D - iiiA.

A - iv; B - ii; C - i; D - iiiB.

A - iii; B - i; C - ii; D - ivC.

A - v; B - ii; C - iii; D - iD.
Answer

If Mw is the weight average molecular weight and Mn is the number average molecular weight of39.

a polymer, the poly disparity index (PDI) of the polymer is given by

MnMwA.

MwMnB.

Mw × MnC.

1Mw × MnD.

Answer

Hydrolysis of sucrose with dilute aqueous sulphuric acid yields-40.
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1 : 1 D-(+)-glucose; D-(-)-fructoseA.

1 : 2 D-(+)-glucose; D-(-)-fructoseB.

1 : 1 D-(-)-glucose; D-(+)-fructoseC.

1 : 2 D-(-)-glucose; D-(+)-fructoseD.

Answer
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